50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

18CV52

Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosmg ONE full question from each module.
2. Assume missing data suttably e

@“ nModule 1 S,
Analyze the continuous beam shown in Fig.Q.1 by slope deﬂectlon method. Draw BMD and
SFD. Y ¢ (20 Marks)

4 3m lw‘ 1sml 2SMJ

EoeT @t @,

/f:)/h A/ r’ = e
{ Fig.Q.1
f(f o Vo OR ;
Analyze the portal frame showni 1n F1g Q.2 by slope deﬂectlon method. Draw BMD.
W (20 Marks)
IOJW '
B w 3m ¢ L
- & g . 4 @ /um ). T
» y —ﬂr L
y— o —
Fig.Q.Z
/ ‘ Module-2
Analyze the beam/ shown in Fig.Q.3 by moment distribution method. Draw BMD EI is
‘constant. R ¢ (20 Marks)
o ¢ o 4 '5"‘“/“” Pevpa et
r'e o g ? M
. a* 3w ¥ 3% ,
A awy g em Tooam T €

Fig.Q.3
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P ¢ \ v
OR NG
Analyze the portal frame by moment-distribution methodfdraw BMD. (20 Marks)

4o

L) Y
Fig.Q.4 et
N, Module-3 /5
Analyze the contmuous beam loaded shown m\Flg Q.5 by Kani’s rotation method. Draw
BMD. . (20 Marks)

¢ v 5o\ |m p ‘/ 50"*’/"4 ‘lzsbu

SHEFNCEE SENC R K

Fig.Q.5
OR . .
Analyze the frame shown 1n 'Fig.Q.6 by Kam s, method Take thé advantage of symmetry.
- p ‘m 5 (20 Marks)
¢ .'O;;, ok
h ™ km ~
CMRIT LIBRARY
; Mli' Vo 0 B \)\L;}\L()r{t‘ 560 037
Module-4
Analyze the; contmuous beam by ﬂex1b111ty matrix method (system approach). Draw BMD.
(Fig.Q. 7) ) D (20 Marks)

g5 W, <o b
Q& A o ] o

(4] ‘ ﬁ? e @E
Y Fig.Q.7
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OR
Analyze the L-frame shown in Fig.Q.8 by ﬂex1b111ty matrlx method Draw BMD (system
approach). K (20 Marks)
C 47
| Fig.Q.8
: Module-5
Analyze the contmuous beam by stiffness matnx method (system approach) shown in
Fig.Q.9. Draw BMD EI it constant. (20 Marks)
Y ' LFObJ/M ’ gotv
Y A% 3m l 2m
& wf;:, 2—4 (49 ag"s Swna é’
¥ gQ K ¢ )f,ﬁm (.,D’J.zjf 7;«.,LJ “’i}
g o OR p X { v B 5T Wf’V(\,f‘1u}P( 500 CG7
Find the forces in the members of a joint ‘O’ shown in Fig.Q.10 by stlffness matrix method.

(system approach). & 'V o (20 Marks)

30f3






